Class:9th

Test:Physics

Attempt ......... questions

1
The least count of vernier callipers is

A.0.0lm B. 0.01lmm
2 Standard form of 6400km s ..................

A. 64x10°km B.6.4x10’km
3 The basic quantity is

A. MassJL B.Volumep+/ls
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> Falcon can fly at speed of:

2.200 kmh"' b.17 kmh"

c. 100 kmh" d. 70kmh’”

Brownian motions is:
a.linear motion b.circular motion
c.viberatory motion d.random motion
7 Centripetal acceleration of body is giyénby
b.a= mv’/t

d.a= v'/5

a. ac=v/r
c.a= v/t

8 Which of the following rejation is correct
b =ma
d.F2a/m

a.F=m-a
c.F=m/a

9 Cos0is equal to:

a.Perpendicular/base b. Perpendicular/Base

C.Base/ Hypotenuse d. Base/ Prependicular

"% Inright angle triangle, length of base is 4 cm

and hypotenuse is 5 cm, then length of

perpendicular is:
a. lcm b.3cm
c.20 cm d.9cm
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